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Attempt any one question from each unit is compulsory. All questions carry
equal marks.
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What do you mean by Management Accounting? How does it differ from
financial accounting? Give limitations of Management Accounting.

Or (372ran)
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From the following information, calculate:

(@) AP ™ JJUTT (Gross Profit Ratio)

(b) g€ ™ IFFUTa (Net Profit Ratio)

(c) @Tel 1qurd (Current Ratio)

(d) dvel rgurd (Liquid Ratio)

(d) Y@ 3mad 3rUTd (Stock Turnover Ratio)

Sales Rs 252000; Cost of Sales Rs 192000; Net Profit Rs. 36000; Opening Stock
Rs. 30000; Closing Stock Rs. 50000; other Current accounts Rs. 76000: Fixed

Assets Rs. 144000; Equity Share Capital Rs. 150000; Long-term Liabilities Rs.
90000; Current Liabilities Rs. 60000; Securities Premium Reserve Rs. 30000.
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'What do you mean by Cash Flwo Statement'? How is it different from 'Fund
Flow Statement? What is its utility?
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Or (3re5ar)
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p Ltd has presented the following Balance sheets as at 315t Myrch 2014

2015 o e
| Particulars 31032013 3103 5

| EQUTTY & LIABILITIES:
Shareholder’s fund

Share capital 60000 | 60000
Reserves 2650 1200
Current liabilities

Trade payables 850 400

3o o0 5 1600 00

Il. ASSET:

Non-current assets

Building (net) 50000 48000
Plant (net) 9000 8500
Current assets

Inventories 500 100
Trade receivables 1500 1000
Cash and cash equivalents 2500 | 4000
- 63500 61600

PIAT |

The changes in building and plant values are due to depreciation Prepare Funds
Flow Statement.
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The necessary particulars are as follows

_YEAR | SALES(Rs) | Profit(Rs)
201314 [ 120000 | 9000
_2014-15 ~ 140000 . 13000

T A EY 3 201314 T4 201415 a1 A @ qa ) e A v
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Assuming that the cost structure and selling prices remain the same in 2013 14
and 2014-15, find out:

@) Ar—.rE s (Profit-Volume Ratio)

b) fagn & fav wu-faase fa=g (B.E.P for Sales)

(c) 100000 & @ fagh) uv ey (Profit at the sales of Rs 100000)

(d) 20000 & A st we @ 3 fa (Sales required to earn a profit
at Rs. 20000)

(e) a4 2014—15 # Rl &1 WA (Margin of safety in 2014-15)
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Prepare a flexible budget for a production level at 80% and 100%
50% & UR IS (Production at 50% capacity)
FTdl HJIA (Raw Materials)
gcgel 319 (Direct Labour)
uRqd=eilel &g (Variable expenses)
SR IIRGY (Factory overheads)
HTITd IURGT (Office overheads)

Or (37eran)
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Explain the concept of Budgetary Control? How does it operate as a tool of
managerial control?
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Define standard costing and discuss its objects, advantages and limitations.
Or (372ran)
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Calculate Material Cost Variance and analyse the same by causes:

9fa gpTs AT AT @Y AT

(Standard Material Quantity par unit) 2 kg
YHY 48 gf f&ar (Standard Price per kg.) Rs. 5

U T T TR BT aRAfIs ol

(Actual Value of Material purchased) Rs. 4800
[T @1 Sifom wfd (Closing Stock of Material) 200 kg
IIIad wAnT Gy garg (Actual Usage per unit) 2.5 kg
TR TE @1 gy (Finished stock sold) 210 units

TR WTet @1 ifew wefed (Closing stock of finished goods) 30 units
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